Yo WREFHEE (5K
© FmyEKE
Q1=P-q/ (24 X 60 X 60 X 1000) Q1 : EFH75 K& (m3/sec)

=P-q/864%X10°5 P:ErE AL (A)
q: aFHEEFRE ARG KEQANIHS DY) O/ N/ H)

13

=t

- B A H P=1000. 0 A
« FHERF R ARG KE (1T AT HH D) =820/ N/H
FHHE75 KR Q1=1000. 0X820/864 X 10" 5=0. 0095m3/sec

O HEKhERE DR
% fEEx VP — ¢ 150 ABEE 1=5. 0%0=5. 0/1000
OkE8E|, ~= 7Rtk ?)

Q2=A-V Q2 : yit= (m3/sec)
A JEAK O WA (m2)
V : itk (m/sec)
V=1/n-R"(2/3)-1" (1/2) n :ORLELR K
R : 878 (m)

I: Al

<ML B 4R % n=0.010
- FRAKOWEAE A=0. 6735-D"2=0. 6735 X 0. 1472°2=0. 0146m2
- WK DI E P=2. 2142-D=2. 2142 X 0. 1472=0. 3259

£ % R=A/P=0.0146/0. 3259=0. 0448m

¥ O# V=1/0.010X0. 0448 (2/3) X 0. 0050  (1/2)
=100. 000X 0. 1261 X 0. 0707=0. 8916m/sec

Pt & Q2=A-V=0.0146 X 0. 8916=0. 0130m3/sec

Q1=0. 0095m3/sec < Q2=0.0130m3/sec S 0.K




